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Question Number : 401 Question Id : 48558434506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Wrights milla 15 a well known:
1. French sociologist
2. American sociologist
3. German sociologist
4. British sociologist

Options :

485584138021. 1
485584138022. 2
485584138023. 3
485584138024. 4

Question Number : 401 Question Id : 48558434506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584138021. 1
485584138022. 2
485584138023. 3
485584138024. 4
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Question Number : 402 Question Id : 48558434507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : Q colle ged unia:
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Key Value

Comprehension MCQ

The concept of "failure of entitlements has been given by:

1. Amartya Sen

[ O]

. Emile Durkheim

[

. Abhijit Banerjee

4, Thomas Robert Malthus

Options :

485584138025. 1
485584138026. 2
485584138027. 3
485584138028. 4

Question Number : 402 Question Id : 48558434507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584138025. 1
485584138026. 2
485584138027. 3
485584138028. 4
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Question Number : 403 Question Id : 48558434508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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A systematic study of population 15 called

1. Polygraphy

[ ]

. Sesmiography

L

. Oceanography
4. Demography

Options :

485584138029. 1
485584138030. 2
485584138031.3
485584138032. 4

Question Number : 403 Question Id : 48558434508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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3. SHiREEITE!
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Options :

485584138029. 1
485584138030. 2
485584138031. 3
485584138032. 4
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Question Number : 404 Question Id : 48558434509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Match List I with List IT

LIST1I LISTII

A Population I Voluntary action to reduce population

- | momentum © | growth
Demographic ’

B S II. | Large cohort of women at reproduct age
Divident = =
Population -

C. ; II1. | Group data in term of gender and age
pyramid
Preventive . | Higher population of workers compared

D. IV
check to non-workers

Choose the correct answer from the options given below:
1. A-IIL, B-L, C-IV, D-II
2. A-IL B-IV, C-IIIL. D-I

JA-TL B-IILL C-I1, D-IV

LN

4. ATV, B-1I. C-1. D-III

Options :

485584138033. 1
485584138034. 2
485584138035. 3
485584138036. 4

Question Number : 404 Question Id : 48558434509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584138033. 1
485584138034. 2
485584138035.3
485584138036. 4

1. A-III. B-1. C-IV. D-II
2. AL B-IV. C-111, D-1
3. A-I B-III. C-II. D-IV

4. A-IV, B-1I, C-I, D-III

Question Number : 405 Question Id : 48558434510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

.
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Match List I with List IT

LIST1 LISTII
A | Welth of Nation I. | Mask Weber
B. | Capitalism II. | Alfred Gell
. | Status symbol 1. | Adam Smith
D. | Hetrarchial social group| IV | Karl Mark

Choose the correct answer from the options given below:

1. A-III, B-I. C-II. D-IV

[

CACITL BAIL C-LL D-IV

CACITL B-IV, C-L D-IT

Y]

4. A-ITL B-1. C-IV, D-II

Options :

485584138037. 1
485584138038. 2
485584138039. 3
485584138040. 4

Question Number : 405 Question Id : 48558434510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
=1 191 Gl 11 ¥ e iy
T T I
A | 9% G 3y L |aefasm
B. |&fiefas | seps im
C. | ey e 11 | arsm famwy
D. | grEeRid e |iad 99 1V, | &1l arad
FFafeRad fadedl & 9 9et 3o &1 909 I
1. A-IIL B-1. C-IL. D-IV
2. A-III, B-IL, C-L, D-IV
3. A-ILL B-1V., C-1. D-IT’
4, A-IIL. B-1. C-IV. D-II
Options :

485584138037. 1
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485584138038. 2
485584138039. 3
485584138040. 4

Question Number : 406 Question Id : 48558434511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The criteria for inclusion in civil society 1s that the organisation shoul lie:
1. Commercial
2. State controlled
3. Non-State controlled

4. Profit making

Options :

485584138041. 1
485584138042. 2
485584138043. 3
485584138044. 4

Question Number : 406 Question Id : 48558434511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e TaTs H 2fire 50 o1 &1 ads 98 § & dea &l HelElE
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Options :

485584138041. 1
485584138042. 2
485584138043. 3
485584138044. 4

Question Number : 407 Question Id : 48558434512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details : Qcol Ieged unias
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Key

Value

Comprehension

MCQ

Match List I with List IT

LIST1 LISTII
A | Kaka Kalelkar commission I |1930
B. | Brahmo Samaj I | 1828
C. | Karachi session of Indian National Congress| ITT. | 1933
D. | B.PMandal commission V. | 1931

Choose the correct answer from the options given below:

1. A-TIL, B-II, C-IV, D-I

[ )

CA-TV, B-TILL C-ILL, D-1

CA-IL B-IIIL, C-I. D-IV

L)

4. A-L. B-II. C-IIL. D-IV

Options :

485584138045. 1
485584138046. 2
485584138047. 3
485584138048. 4

Question Number : 407 Question Id : 48558434512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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A | B BIOAD AT 1 [1990
B | g9 oA 1. | 1828
C |vRdgufu s eI o= e 111953
D. | &l 0t dsd sman IV | 1931

fgfeiad faeedl § O Oe! ST &1 904 Hifeiu .
1. A-III. B-I1. C-IV. D-1
2. A-TV. B-I11, C-II, D-I

CACIL BAIILL C-1L D-IV

L]

4. A-L, B-II, C-IIL. D-IV

Options :

485584138045. 1
485584138046. 2
485584138047.3
485584138048. 4

Question Number : 408 Question Id : 48558434513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the following statement in correct sequence of events

A. Effort to re-organise into Ethnie-Linguistic states

B. Indian state continued with British-Indian arrangement of presidence

C. Vigorous moments among Maratha and Kannada speakers in Bombay and Madras presidencie

D. Pakistan was divided between Urdu and Punjabi speakers in the west and Bengali speakers in the east
E. Formation of SRC for final approval on Linguitic states

Choose the correct answer fron the option given below:
1:A,B,E, €, D
2.B:A, C.E.D
3.B.C_ALE.D

4. AD.C.E.B

Options :

485584138049. 1 .
% collegedunias
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485584138050. 2
485584138051. 3
485584138052. 4

Question Number : 408 Question Id : 48558434513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

FafeRad Syl B U1 Fpa AR dd Sifeg

A, TSI HTST TS o] B Giied R &1 uard
B. HRd T o7 feifee-yrdt 9diS € caaeur s gl
C. §HS 3R g5 dHedl & 16T SR SEe ST UTH antl & SiRgR TSl

D. Ui &1 9| F 3 3R deid! UTST Uil qul e 8 are 11 yifval & dig fqures

E. HTNTS STUR IR I & 3ifH S0 8q U9 R 41 &1 764
i fau g fdeedl § 9 9ol SR dT = B

LAB.E,C, D
2.B.A.C.E.D
3.B.C.AE.D

4 A D CEB

Options :

485584138049. 1
485584138050. 2
485584138051. 3
485584138052. 4

Question Number : 409 Question Id : 48558434514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The most infamous pandemic was 'Spanish flue'which occured in the year-

1.2020
21957
3. 1918

4. 1947"

Options :
485584138053. 1

-
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485584138054. 2
485584138055. 3
485584138056. 4

Question Number : 409 Question Id : 48558434514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Haiite Peeard HeMRT Ry v 2 et wep g ay gyl

1. 2020

2. 1957

1918

fa

4.1947",

Options :

485584138053.
485584138054.
485584138055.
485584138056.

AW N —

Question Number : 410 Question Id : 48558434515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which article of the constitution of India states the following

"No citizen shall be denied admission into any educational institution, matained by the state or recerved out of
state funds on grounds only of religion.race.caste. language or any of them”

1. Article 29(1)
2. Article 29(2)
3. Article 30(1)
4. Article 30(2)

Options :

485584138057. 1
485584138058. 2
485584138059. 3
485584138060. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 egEd unias

India’s largest Student Review Platform
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

YRd & TiauH ¥ g owe | FefRa sermar g

"I gRT IS a1 Irsy A8 O geradr gHaret [ e d yowr 4 ol df amiie &f ddd
e JEa=T S a1 Y791 S8 ¥ i & 3eR W afed g! [dhar s

1. T3¢ 29(1)
TG 29(2)
3T 30(1)
. 39S 30(2)

Options :

485584138057. 1
485584138058. 2
485584138059. 3
485584138060. 4

[ ]

L]

o

Question Number : 411 Question Id : 48558434516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Who considered exclusive nationalism to be an evil?

1. I Nehm

[

. R. Tagor
3. B.R. Ambedkar
4. Bhagat Singh

Options :

485584138061. 1
485584138062. 2
485584138063. 3
485584138064. 4

Question Number : 411 Question Id : 48558434516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ .
w collegeaunias
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Options :

485584138061. 1
485584138062. 2
485584138063. 3
485584138064. 4
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Question Number : 412 Question Id : 48558434517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List T with List II
LIST1I LISTII
A | Zamindari System | I | Benami transfer
T, Radical restructuring of agrarian
e | Rapatwdysistan | ¥ structure in KeralatBengal
c Tenancy abolition 11 Less burden of taxation, more
| and regulation " | proporsion
B [eadesns v Agricultural product

stagnated/deliver

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV, D-II
2. A-IV, B-11, C-1, D-ITI

3. A-L B-IL C-TIIL. D-IV

4. A-IV. B-1II, C-1I. D-I

Options :

485584138065. 1
485584138066. 2
485584138067. 3
485584138068. 4

-
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Question Number : 412 Question Id : 48558434517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
ol 191 941 11 ¥ fieiH Sifoy
il Tt 11
A | R O L | g sfaro
B. [y 1L | &¥d HR 9d 3 garyd S gaaea
C. | PRAPRI I AR e | 1L | S 1 &8 4R s 998
D. | ffi gasdl IV. | B Iaure siaes 397 fiRae

FafdRad Aol § 3 9l 3R &1 909 B

1. A-III. B-1. C-IV, D-II

[ )

L)

4. A-IV, B-TII, C-II. D-1

Options :

485584138065. 1
485584138066. 2
485584138067. 3
485584138068. 4

CA-IV, B-IIL C-IL D-TII

cA-L B-IL, C-II1. D-IV

Question Number : 413 Question Id : 48558434518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Strike out incorrect statement about Panchayati Raj:-

1. Panchayati Raj translates to "Governance by five individuals”

(]

L¥]

. At the base of the structure stands "Gram Sabha"

= - - . :
. The 74 ®Amanedment provided a three-tier system of Panchayati Raj

4. Election to these bodies are conducted every five years.

Options :

485584138069. 1
485584138070. 2
485584138071.3

-
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485584138072. 4

Question Number : 413 Question Id : 48558434518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

I e & S | Fafafad # 9 Ted 9y 1 g

1. UGl 3Tt Ui St al ST I e |

[ )

] G BT IMUR "UTH YT B
743 TeeE & g dard o vormett &1 wayE e g1
4. 571 Pyl &1 vl uie asf & e gl g |

Options :

485584138069. 1
485584138070. 2
485584138071. 3
485584138072. 4

L]

Question Number : 414 Question Id : 48558434519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Read the statements given below and choose the option with the correct sequence of events:

A. Green revolution introduced in the dry and the semi-arid regions of India 2 phase
B. New teachnology introduced

C. Displacement of service caste groups.

D. Increasing Commercialisation

Choose the correct answer from the option given below:

LABCD
2B, C.AD
3I.D.C.AB

4.B.C.D.A

Options :
485584138073. 1

485584138074. 2 .
% collegedunias
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485584138075.3
485584138076. 4

Question Number : 414 Question Id : 48558434519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Frafafad Sy=t &1 ufgu ayr gersil & gl o o fd® el & 9u- DIT:-
A. BRT P 8 TR0 E YR & D T 3¢ b &3 5 == i i i)

B. 3 U@ = 3l 715 |

C. Yae WIid THg DI fawira—

D. Sgdl Sguriel

i feu 71u [Aeedl d § 81 3TR &1 99 &1

LAB.C.D
2.B.C.A.D
3.3.D.C.A.B
4. B.C.D. A
Options :
485584138073. 1
485584138074. 2

485584138075.3
485584138076. 4

Question Number : 415 Question Id : 48558434520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Extended working hours are Legitimesed by the common management, Which in theory. gives the employee

freedom to choose his'her working hours.Give the common nomenclature of this process.

1. Own-Time
2. Flexi-Tune
3. Me-Time

4, Work-From-Home-Time

Options :
485584138077. 1

.
Qcollegedumas
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485584138078. 2
485584138079. 3
485584138080. 4

Question Number : 415 Question Id : 48558434520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ﬁﬂﬁf{fﬂﬁaﬁﬁwuﬁm ZRT 9y geudr oidl &, foras fer<a: sd=ifal ot o1 & g be
@I I DI IGadl &l olild o | 59 Yishdl PT HH- A0 dai

1. YT 99T (3 212H)
. TRiil ergH
HrergH

. g WTH §I9 <A

Options :

485584138077. 1
485584138078. 2
485584138079. 3
485584138080. 4

I

&S]

e

Question Number : 416 Question Id : 48558434521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Disinvestment means:

1. Svaging in the bank

[ ]

. Privatisation of public sector or Government companies
3. Open market for global citizens

4. Acquiring small and medium mmdustries

Options :

485584138081. 1
485584138082. 2
485584138083. 3
485584138084. 4

Question Number : 416 Question Id : 48558434521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Q

Correct Marks : 5 Wrong Marks : 1 col IegEd unias
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Question Key Details :

Key Value
Comprehension MCQ
fafaw o1 anf 2
1. seoaaa
2. ATGoi-® &3 3Ua RSR! S &1 Fofim

Tad

 dl%® ArTie] & fau aeR die
4. T AU T I G BT 36

Options :

485584138081. 1
485584138082. 2
485584138083. 3
485584138084. 4

Question Number : 417 Question Id : 48558434522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following process in chronological order:

A, Manufacturer branding and selling

B. Workers rolling the leaves

C. Pluking of tendu leaves

D. Selling tendu leaves by contractor to government
E. Auctions leaves of factory owners

Choose the correct answer from the options given below:
1L.C,D,E.BA
2.C,D;E.AB
3.6 DB AE

4.C,D.AE.B

Options :

485584138085. 1
485584138086. 2
485584138087. 3
485584138088. 4

Question Number : 417 Question Id : 48558434522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

-
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Question Key Details :

Key Value
Comprehension MCQ

et ufearsi 1 e HER aiiyd S

A, STEATl gRI ST a fass!

B. DIHP! GRI Tl Pl qdeT

. Igudl &I A8 3HeR GRI PR S T dg
D. TA1 & &=

E. e | HIferep] 1 Ul 1 el

e fau U fdee § 9 el SR @1 99 SiliE:

LEDE B:A

2.C.D.E.AB
3.C.D.B.AE

41 C.DAEB

Options :

485584138085. 1
485584138086. 2
485584138087. 3
485584138088. 4

Question Number : 418 Question Id : 48558434523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Who has argued nation as an imagined community?
1. I. Gutenleerg

2. Raja Rammohan Roy

(%]

. Vidyasagar

4. Benedict Anderson

Options :

485584138089. 1
485584138090. 2
485584138091. 3
485584138092. 4

Question Number : 418 Question Id : 48558434523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
% collegedunias

India’s largest Student Review Platform



Question Key Details :

Key

Value

Comprehension

MCQ

[P e 1Y DI U Dledi-i YA s 3 &1 DI B 52

1. o, e

| ]

3. [GeRITR
4, §fEFe wusET

Options :

485584138089. 1
485584138090. 2
485584138091. 3
485584138092. 4

XTSI gigq I

Question Number : 419 Question Id : 48558434524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List T with List II
LISTI LISTII
Nature of work Industry

Working conditions

Bidi making zari making

Recruitment

1L

The mines Act 1932

Management

III.

Jobless

glo(E| =

Home based work

v

Taylorism

Choose the correct answer from the options given below:
1. A-I. B-IL. C-IIT. D-IV
2. AL B-IV. C-1, D-TI
3. ATV, B-1, C-II. D-IIT

4. A-1L B-IIL C-IV., D-1

Options :

485584138093. 1
485584138094. 2
485584138095. 3
485584138096. 4

-
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Question Number : 419 Question Id : 48558434524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
ol 191 941 11 ¥ fieiH Sifoy
I = 11
Wﬁwﬁl CEI
A | o ol | 1 | §iE g9 S8 e im
B. | ydf 1L @ ffafaE. 1952
C. | s L. | Sray
D. | R {1eRd S| IV. [ SeRae

(AafaiRad fadedl § 1 gl ST ol 984 Difeiu
1. A-L B-II. C-IIL. D-IV
2. AL, B-IV, C-1, D-II

LA-IV.B-L C-11, D-III

L& 5]

4. AT, B-IIIL, C-IV, D-I

Options :

485584138093. 1
485584138094. 2
485584138095. 3
485584138096. 4

Question Number : 420 Question Id : 48558434525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-
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bidi workers are:

A. Workers who substitute for regular permanent workers.

B. Contract workers.
C. Permanent workers.

D. Workers who receive equal status and security like permanent workers

Choose the correct answer from the options given below:

1. C, D Only
2. A, B Only
3. A, D Only

4.B. D Oaly

Options :

485584138097. 1
485584138098. 2
485584138099. 3
485584138100. 4

Question Number : 420 Question Id : 48558434525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

st it §

A. 3 Fifife o Faftg wrh sifife! o afowifid o g

B. Hfdel o1fte
c. ™R Fid®

D. 3 Pt fore 2 Sifiyest & Tae & RRa qur JRe w81

= R et & 2 96t s o 9o iR

1. ®ad C. D
2. Bad A, B
3. Pdd A D
4, HAAB, D

Options :

485584138097. 1
485584138098. 2
485584138099. 3
485584138100. 4

-
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Question Number : 421 Question Id : 48558434526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The crifics of Malthosian theory argued that poverty and Starvation were caused by

A. Unequal distribution of economic resources

B. Population growth
C. mjust social system
D. Privileged minority

Choose the correct answer from the options given below:

1.B & D Only
2.B& C Only
3.A & C Only
4. A & B Only

Options :

485584138101. 1
485584138102. 2
485584138103. 3
485584138104. 4

Question Number : 421 Question Id : 48558434526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

AU & Gid & ] B a9 & 19 TRIs! Ul YEHR] & SR §

A, e T Y= &1 3RgHE Fawo

B. SHEEA gfg
C. SOTEgU W A
D. oI R ure sfeqdiens

4t fu U fasedl § O Tl 3T 31 94 i

1. #ad B R D
2. BB AR C
3.PaqAARC
4. Pad A RB

Options :

-
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485584138101. 1
485584138102. 2
485584138103. 3
485584138104. 4

Question Number : 422 Question Id : 48558434527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The term used when individual are required to marry outside his'her group:

1. Monogamy

[ ]

. Polygamy
3. Endogamy
4. Exogamy

Options :

485584138105. 1
485584138106. 2
485584138107.3
485584138108. 4

Question Number : 422 Question Id : 48558434527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

e e 1 30 T o aTex [ad1g BT SUfad g1, dl a8 Ue Heardl &
U fgars wer

. §g faare uan

. 3fdifdare

4. dfgfdare

Options :

485584138105. 1
485584138106. 2
485584138107.3
485584138108. 4

[y

| ]

Lo N]

Question Number : 423 Question Id : 48558434528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Q

Correct Marks : 5 Wrong Marks : 1 col IegEd unias

India’s largest Student Review Platform



Question Key Details :

Key Value

Comprehension MCQ

Pemanent fraits i fribes does not include:

1. region

[ O]

. Religion
3. language

4. Ecological Habit

Options :

485584138109. 1
485584138110. 2
485584138111.3
485584138112.4

Question Number : 423 Question Id : 48558434528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

FafaRad 3 @ o5 ool & =l oty 78t g2
1. &4
i

YT
4. gizfEfa® sred

Options :

485584138109. 1
485584138110. 2
485584138111. 3
485584138112. 4

| E)

L&)

Question Number : 424 Question Id : 48558434529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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The most common features of caste are;

A It involves strict rule about marriage.

B. It involves rules about food and food sharing

C. It is a matter of choice.

D. Castes involved subdivisions within themselves.

Choose the correct answer from the options given below:

1.A. B & D Only
2.B.C &D Oaly
3.A,C & D Only
4. A B & C Only'

Options :

485584138113. 1

485584138114.2

485584138115. 3
485584138116. 4

Question Number : 424 Question Id : 48558434529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Sl & Taffie e fagean 2

A. 9% faare & PR Fom g 8

B. S5 HISH qul HioH 9131 &34 & HaH sid gl
C. U8 391 Ui &1 favd g1

D. S & 2R 3% 4t 304 IufaueH eid 2

- fau e fawed! 7 9 Hel SR 1 90 ST
1. ¥ad A, B SR D
2. $aa B, C3IRD
3.9a0A.CHR D
4. PIAA,B 3R C

Options :

485584138113. 1
485584138114.2
485584138115. 3
485584138116. 4
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Question Number : 425 Question Id : 48558434530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who coined the term 'Status Symbol'?

1. T. K. Domnenn

[

. Levi Strauss
3. Emile Durkhein

4, Max Weber

Options :

485584138117. 1
485584138118.2
485584138119. 3
485584138120. 4

Question Number : 425 Question Id : 48558434530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

92 Ty RNaa e e e
1. 21 & 3T

ddl T

QIS ga3H

4, T e

Options :

485584138117. 1
485584138118.2
485584138119. 3
485584138120. 4

| ]

Lo N]

Question Number : 426 Question Id : 48558434531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Which tribe 15 matrilineal?
1. Bakarwal
2. Khasi
3. Bhil

4, Santhal

Options :

485584138121. 1
485584138122.2
485584138123. 3
485584138124. 4

Question Number : 426 Question Id : 48558434531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

S o1 Argasiia g2
1. §HATd

i)

 Hi|

| E)

L&)

4. HYTeT

Options :

485584138121. 1
485584138122.2
485584138123.3
485584138124. 4

Question Number : 427 Question Id : 48558434532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Indian parliamentry and Legal system 1s leveitt on:

1. French Model

[ ]

. Canadian Model
3. British Model

4, Austrrailian Model

Options :

485584138125. 1
485584138126. 2
485584138127. 3
485584138128. 4

Question Number : 427 Question Id : 48558434532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

YRd &1 gardia qur faftes vondt Fefafea 8 3 P & smmr et 8

1. i ATsa
_FSTS Aisd
3. fafew arsa

4. Ao Oisd

[

Options :

485584138125. 1
485584138126. 2
485584138127. 3
485584138128. 4

Question Number : 428 Question Id : 48558434533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Social ineguality and exclusion are social because

A. They are structured

B. They are systematic

C. They are unstructured
D. They are non systematic

Choose the correct answer from the options given below:
1. A& D Oanly
2.B & C Ounly
3. A& B Only

4.C & D Ounly

Options :

485584138129. 1
485584138130.2
485584138131. 3
485584138132. 4

Question Number : 428 Question Id : 48558434533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TS SRIHA] TUT 3Uasl- SrEifep ¢ gl

A IRTIES T

B. doafmgl
c. d IaTag T8l gl
D. 3 safe el B

- feu e fawed! 7 9 Hel SR 1 90 DI
1. ¥ad A 3R D
2. FaAB AR C
3.%ad AR B
4. PIAC AR D

Options :

485584138129. 1
485584138130. 2
485584138131. 3
485584138132. 4

-
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Question Number : 429 Question Id : 48558434534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

In 1993 Supreme Court held that Right to Information 1s part of and incidental to The Right of expression

under;
1. Article 19 (1)(A)

2. Article 17

L

. Article 20 (1)(B)

4, Article 15

Options :

485584138133. 1
485584138134.2
485584138135. 3
485584138136. 4

Question Number : 429 Question Id : 48558434534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

ay 1993 H I=iaH 1Ay | T8 o faur fb g=1 1 iiieR.

@1 U YT 9UT S4B A & |
1. 35 19 (1)(P)

394 17

ST 20 (1)(9)

4. 354 15

Options :

485584138133. 1
485584138134. 2
485584138135.3
485584138136. 4

| )

Lad

Question Number : 430 Question Id : 48558434535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Arrange the following in order of the development of Indian women's struggle for equality.

A. Raja Rammohan Roy undertook the campaign agamnst Sati

B. Law became the major site for reform against violence

C. Karachi Session of INC committed itself to women's equality

D. Dayanand saraswati stood for women's education based on religious principles

Choose the correct answer from the options given below:
1.D.A.C.B
2.B.D,C.A
AR €D

4 ADCB

Options :

485584138137. 1
485584138138.2
485584138139. 3
485584138140. 4

Question Number : 430 Question Id : 48558434535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TR 1 garar & & YRdE Siges 9oy & [§om8 3 0 T oadid Sifau:

A IS IH g 34 A Tl & 99 Hfim= gamn|

B. 91 & [d¥s S UR &1 & - &1

. 315 U9 U &1 el HfHaeH Wy nigarsl & gaHa & ufa ufdas ol
D. 3U1E I3 UTiHe S & SMUR ) Afgarsd &1 fX1e & 9amR o

4t fu U fasedl § O Tl 3T 31 94 i

1. D.ACB

2B.D.C.A
3JAB.C.D

4 ADCB

Options :

485584138137. 1
485584138138. 2
485584138139.3
485584138140. 4

.
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Question Number : 431 Question Id : 48558434536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following in chronological sequence (from oldest to newest events)

A. Champaran Satyagraha

B. Bihar Provincial Kisan Sabha
C. Deccan riots

D. Tebhaga Movement

E. Bardoli Satyagraha

Choose the correct answer from the options given below:

1.D.B.C.A.E
2.CLAE.B.D
3B DACE

4 A.B,C.D.E

Options :

485584138141. 1
485584138142.2
485584138143. 3
485584138144. 4

Question Number : 431 Question Id : 48558434536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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FafeiEd &1 UrEiE 9 snyFear g3l & Prad I aR Taid Bt

A, IR SAYE

B. f[deR Uiy fdH OHT
C. gFHA P g1l

D. TYTT 3= ad

E. SRad 9drE

i feu U fdsedl § O ol 3T &1 944 &

1.D.B.C.A.E
2. A E B
3L.B. DA C.E
4 A B.C.D.E
Options :
485584138141. 1
485584138142.2

485584138143.3
485584138144. 4

Question Number : 432 Question Id : 48558434537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Sanskitization is a process of
1. Upward mobility
2. Downward mobility
3. Intra-generational mobility
4. Horizontal mobility
Options :
485584138145. 1
485584138146. 2

485584138147.3
485584138148. 4

Question Number : 432 Question Id : 48558434537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

.
s
= nia:
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Yl FafaiEd O U (&gt us ufear g?

1. g niaeiiaar
. YT TR
3R YT Tifoiterdr
4. FHER Tfc=fierdr

Options :

485584138145. 1
485584138146. 2
485584138147.3
485584138148. 4

[ §)

&S]

Question Number : 433 Question Id : 48558434538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Out of the following which 1s the dominant caste in Andhra Pradesh?

1. Lingayats
2. Kammas
3. Jat

4, Sikhs

Options :

485584138149. 1
485584138150. 2
485584138151.3
485584138152. 4

Question Number : 433 Question Id : 48558434538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Fafefad § O & oms uew § Us uad oI 82

1. femaa

L PH]

I

SIe
4. Tag

Options :

485584138149. 1
485584138150. 2
485584138151. 3
485584138152. 4

&S]

Question Number : 434 Question Id : 48558434539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

In the decocratic form of government who are the key actors?

1. Industrialists

[ ]

. Political Parties
3. People
4, NGO's

Options :

485584138153. 1
485584138154. 2
485584138155.3
485584138156. 4

Question Number : 434 Question Id : 48558434539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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[Pl AwaiE® SRHR § $H GBI Hdl 6 ?

1. Fgrmfd

R EIREAC
BEEG

4. U4 Sl 3l

Options :

4855841381531
485584138154.2
485584138155. 3
485584138156. 4

I

&S]

Question Number : 435 Question Id : 48558434540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which amendment provided a three-tier system of Panchayati Raj for all states having a population of over

twenty lakh.

1. The 92nd Amendment
2. The 73" Amendment

. The 56™ Amendment

L)

4. The 83" Amendment

Options :

485584138157. 1
485584138158. 2
485584138159.3
485584138160. 4

Question Number : 435 Question Id : 48558434540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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fopg Gfdur IOy gR1 &Y aRg 9 {46 &1 o9 are 94t Ireal & foe g garadt 3o vt

YaH &I 15 87
1.92 T HH1UH
.73 4 g4I
569 YT
4,83 9 GHIEH

Options :

4855841381571
485584138158.2
485584138159. 3
485584138160. 4

[ ]

LF¥]

Question Number : 436 Question Id : 48558434541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

An economy where the workforce involved in Design, Development, Technology, Marketing, Sales and

Services 1s known as:-
1. Knowledge economy
2. Developed economy
3. Developing
4. Electronic economy
Options :
485584138161. 1
485584138162. 2

485584138163. 3
485584138164. 4

Question Number : 436 Question Id : 48558434541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584138161. 1
485584138162.2
485584138163. 3
485584138164. 4
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Question Number : 437 Question Id : 48558434542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

India's first long running soap opera was:

1. Hum log

[

. Buniyaad
3. Ramayana

4, Mahabharata

Options :

485584138165. 1
485584138166. 2
485584138167. 3
485584138168. 4

Question Number : 437 Question Id : 48558434542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584138165. 1
485584138166. 2
485584138167. 3
485584138168. 4

Question Number : 438 Question Id : 48558434543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Who wrote Unguite Woods?
1. Karl Marx

. Ramchandra Guha

[

3. Dipanker Gupta

4, M. N.Srinivas

Options :

485584138169. 1
485584138170.2
485584138171.3
485584138172. 4

Question Number : 438 Question Id : 48558434543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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Options :

485584138169. 1
485584138170.2
485584138171.3
485584138172. 4

Question Number : 439 Question Id : 48558434544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Social movement is:

1. absence of any degree of organisation

[

. sustamed collective action
3. necessarily mclude a leadership

4. disorganised protest

Options :

485584138173. 1
485584138174. 2
485584138175.3
485584138176. 4

Question Number : 439 Question Id : 48558434544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584138173. 1
485584138174.2
485584138175.3
485584138176. 4
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Question Number : 440 Question Id : 48558434545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Gender 1dentities impact men as well. A typical man in the Indian society is expected to be the following:

1. Do household work

[

. Help in child rearing
3. Strong and successful

4. Helptul and compassionate

Options :

485584138177. 1
485584138178.2
485584138179. 3
485584138180. 4

Question Number : 440 Question Id : 48558434545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584138177. 1
485584138178.2
485584138179. 3
485584138180. 4
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Sub-Section Number : 2
Sub-Section Id : 4855842553
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 441 Question Id : 48558434546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Clamoring to enter India’s red-hot retail sector, the world's largest chains, including WalMart Stores, Carrefour
and Tesco. are seeking the best way to enter the country, despite a government ban on foreign direct
mvestment in the market. Recent large investment by major Indian businesses, like Reliance Industries and
Bharat Airtel, have mnereased the sense of wrgency for foreign retailers..... Last week Bharat Airtel indicated
that it was in talks with Wal-Mart, Carrefour and Tesco to set up a joint venture ... India’s retails sector i3
attractive

not only because of its fast growth, but because family-run street corner stores have 97 % of the nation’s
business. But this industry trait 18 precisely why the government makes it hard for foreigners to enter the
market. Politicians frequently argue that global retailers would destroy thonsands of small loeal players and
fledgling domestic chains.

The government 1s trying to sell its share in several public sector companies, a process which 1s known
as

1. Foreign investment
2. De investment

3. Dis investment

4. Retail therapy

Options :
485584138181 1 Qcollegedunias
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485584138182. 2
485584138183.3
485584138184. 4

Question Number : 441 Question Id : 48558434546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

485584138181. 1
485584138182.2
485584138183. 3
485584138184. 4

Question Number : 442 Question Id : 48558434547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Clamoring to enter India’s red-hot retail sector, the world’s largest chains, including WalMart Stores, Carrefour
and Tesco. are seeking the best way to enter the country, despite a government ban on foreign direct
mvestment in the market. Recent large investment by major Indian businesses, like Reliance Industries and
Bharat Airtel, have increased the sense of urgency for foreign retailers.. ... Last week Bharat Airtel indicated
that 1t was n talks with Wal-Mart, Carrefour and Tesco to set up a joint venture ..., India’s retails sector 13
attractive

not only because of its fast growth. but because family-run street corner stores have 97 % of the nation’s
business. But this industry trait 18 precisely why the government makes it hard for foreigners to enter the
market, Politicians frequently argue that global retailers would destroy thousands of small local players and
fledgling domestic chains.

Due to globalisation. MNes are outsourcing work to developing countries because:
1. Most MNc¢ are headed by people from developing countries like India
2. The International Monetary Fund and World Trade Organisation makes it menadatory
3. Labour 1s skilled
4. Labour 1s cheaper in developing countries which will yield bigger profits for the MNes

Options :

485584138185. 1
485584138186. 2
485584138187.3
485584138188. 4

Question Number : 442 Question Id : 48558434547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584138185. 1
485584138186. 2
485584138187.3
485584138188. 4
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Question Number : 443 Question Id : 48558434548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Clamoring to enter India’s red-hot retail sector, the world’s largest chains, including WalMart Stores, Carrefour
and Tesco. are secking the best way to enter the country, despite a government ban on foreign direct
mvestment in the market. Recent large investment by major Indian businesses, like Reliance Industries and
Bharat Aurtel, have mereased the sense of wrgency for foreign retailers..... Last week Bharat Airtel indicated
that 1t was in talks with Wal-Mart, Carrefour and Tesco to set up a joint venture ... India’s retails sector 18
attractive

not only because of its fast growth, but because family-run street corner stores have 97 % of the nation’s
business. But this industry trait 18 precisely why the government makes it hard for foreigners to enter the
market. Politicians frequently argue that global retailers would destroy thonsands of small loeal players and
fledgling domestic chains.

India's retail sector 1s attractive not only beacuse of its fast growth, bot because family run street cover. Stores
have a large share of the market. Identify the share of the family run cover buisiness in retail sector.

1. 59%

2.97%

4. 90%

Options :

485584138189. 1
485584138190. 2
485584138191. 3
485584138192. 4
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Question Number : 443 Question Id : 48558434548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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[ ]
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3. 79%
4. 90%

Options :

485584138189. 1
485584138190. 2
485584138191. 3
485584138192. 4

Question Number : 444 Question Id : 48558434549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Clamoring to enter India’s red-hot retail sector, the world’s largest chains, including WalMart Stores, Carrefour
and Tesco. are seeking the best way to enter the country, despite a government ban on foreign direct
mvestment in the market. Recent large investment by major Indian businesses, like Reliance Industries and
Bharat Airtel, have increased the sense of urgency for foreign retailers.. ... Last week Bharat Airtel indicated
that 1t was n talks with Wal-Mart, Carrefour and Tesco to set up a joint venture ..., India’s retails sector 13
attractive

not only because of its fast growth. but because family-run street corner stores have 97 % of the nation’s
business. But this industry trait 18 precisely why the government makes it hard for foreigners to enter the
market, Politicians frequently argue that global retailers would destroy thousands of small local players and
fledgling domestic chains.

Parle drinks bring bought by Coca Cola in an example of
1. Liberelization
2. De-Monetisation
3. Globalization
4. Acquisition

Options :

485584138193. 1
485584138194. 2
485584138195. 3
485584138196. 4

Question Number : 444 Question Id : 48558434549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension Compl
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Options :

485584138193. 1
485584138194. 2
485584138195. 3
485584138196. 4
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Question Number : 445 Question Id : 48558434550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Clamoring to enter India’s red-hot retail sector, the world’s largest chains, including WalMart Stores, Carrefour
and Tesco. are secking the best way to enter the country, despite a government ban on foreign direct
mvestment in the market. Recent large investment by major Indian businesses, like Reliance Industries and
Bharat Airtel, have increased the sense of urgency for foreign retailers..... Last week Bharat Airtel indicated
that 1t was in talks with Wal-Mart, Carrefour and Tesco to set up a joint venture .... India’s retails sector 18
attractive

not only because of its fast growth. but because family-run street corner stores have 97 % of the nation’s
business. But this mdustry trait 1s precisely why the government makes it hard for foreigners to enter the
market. Politicians frequently argue that global retailers would destroy thousands of small local players and
fledgling domestic chains.

Identify the world's largest MNC in retail market
1. Wal - Mart stores
2. Pepsico
3. Relaince- Industries

4, Amazon

Options :

485584138197. 1
485584138198.2
485584138199. 3
485584138200. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 .
% collegedunias
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Question Number : 445 Question Id : 48558434550 Question Type : MCQ Option Shuffling : No Is Queition Mandatory :



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584138197. 1
485584138198. 2
485584138199. 3
485584138200. 4

Sub-Section Number : 3
Sub-Section Id : 4855842554
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 446 Question Id : 48558434551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2
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Read the following passage and answer question based on the concept.

Considered from an, urban point of view. The rapid growth in urbanization shows that the town or eity has
been acting as a magnet for the rural population. Those who cannot find work (or sufficient work) m the rural
areas go to the city in search of work. This flow of rural-to-urban migration has also been accelerated by the
continuous decline of common property resources like ponds, forests and grazing land. These common
resources enabled poor people to survive in the villages although they owned little or no land. Now, these
resources have been turned into private property, or they are exhausted. (Ponds may run dry no longer provide
enough fish: forests may have been cut down and have vanished...). If people no longer have access to these
resources. but on the other hand have to buy many things in the market that they used to get free (like fuel,
todder or supplementary food items). Then their hardship increases. This hardship is worsened by the fact that
opportunities for cash income are limited mn the villages.

Identify how 1s Mass Media contributing to urbanization?
1. By controlling the product market
2. By streaming the image of urban life styles and patterns of consumption to rural people
3. By changing the views of rural people
4. By providing employment

Options :

485584138201. 1
485584138202. 2
485584138203. 3
485584138204. 4

Question Number : 446 Question Id : 48558434551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension Comp?2
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Options :

485584138201. 1
485584138202. 2
485584138203. 3
485584138204. 4

Question Number : 447 Question Id : 48558434552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

Read the following passage and answer question based on the coneept.

Considered from an, urban point of view. The rapid growth in urbanization shows that the town or eity has
been acting as a magnet for the rural population. Those who cannot find work (or sufficient work) in the rural
areas go to the city in search of work. This flow of rural-to-urban migration has also been accelerated by the
continuous decline of common property resources like ponds, forests and grazing land. These common
resources enabled poor people to survive in the villages although they owned little or no land. Now, these
resources have been turned mto private property, or they are exhauvsted. (Ponds may run dry no longer provide
enough fish: forests may have been cut down and have vanished...). If people no longer have access to these
resources, but on the other hand have to buy many things in the market that they used to get free (like fuel,
fodder or supplementary food ttems). Then their hardship increases. This hardship is worsened by the fact that
opportunities for cash income are limited in the villages.

"There 15 a selective m the common property resources in the village trading to migration in that are these
commomm property resources?

1. Agricultural land
2. Ponds, forests and grazing land
3. Agricultural Implements

4. Friends and relatives

Options :

485584138205. 1
485584138206. 2
485584138207. 3
485584138208. 4
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Question Number : 447 Question Id : 48558434552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2
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Read the following passage and answer question based on the concept.

Considered from an, urban point of view. The rapid growth in urbanization shows that the town or eity has
been acting as a magnet for the rural population. Those who cannot find work (or sufficient work) m the rural
areas go to the city in search of work. This flow of rural-to-urban migration has also been accelerated by the
continuous decline of common property resources like ponds, forests and grazing land. These common
resources enabled poor people to survive in the villages although they owned little or no land. Now, these
resources have been turned into private property, or they are exhausted. (Ponds may run dry no longer provide
enough fish: forests may have been cut down and have vanished...). If people no longer have access to these
resources. but on the other hand have to buy many things in the market that they used to get free (like fuel,
todder or supplementary food items). Then their hardship increases. This hardship is worsened by the fact that
opportunities for cash income are limited mn the villages.

Urbanisation 18 not ust impacting the number of people migration to urban areas, but also unpacting:
1. Increased interaction of urban people
2. Increased resources for rural people left behind
3. Decline in socio- economic significances of agrarian way of life

4. Increased resources of urban people

Options :

485584138209. 1
485584138210. 2
485584138211. 3
485584138212. 4

Question Number : 448 Question Id : 48558434553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

=it AU g 9w &1 uiey SR wHl & IR difer;

el SPHI H 3, VeI E did gha Il © o ATHI0 SHERe & [O TR S{Udl ¥eX 99 & E9
T PR B o o A0 & § ST (STl T4l ©1F) To! [Had] 6, d B &1 aem<r J e o o
T, STl SR IREE! oY Arlfee Suf S9reHl § gaa frge 9 off g8 ariion 9 wesl yaed &
JaTg @Rd §31 &1 TRIA @1l & UTH §gd H Yl oI5 Y A 84 IR 11 39 9ifes dureH] 9 TRie el
¥ ofifad 3e ure 21 3@ T Ty ol Yufy a9 e € sryar 3 9 B U B | (e IRE Y § Syt o
el vafa Aofemt 78 8. Sa o1e S8 U E SR O 8171 §) afed 57 Sl 9o o) dl #t uge
ol 6. U¥=] Ugd [Ha- ardl S [ X[ed ag sl ( 38, IRT 3Ual re] yar) g $R, 3%
SO & WS Ugd 8. ol BISATS 66 SIdll ¢ 1 78 DIOAIS is T H 3R e @d g1 Wil g fab 7iial |
THE AHEHA! B TR A B

.
Qcollegedumas
India’s largest Student Review Platform



e A UE &1 H Yo @3- aTa oafadl @) 9l & 51 WHIfad el @ 31, g 98 e @
ff maIfard 2 3T 8-

1. SIER1 T Bl afeid ia: fovan

9 AT ST o o afefd geres

Py SiiaH el & FmIfsTe- 3t Aew o fiRmae
4, QBRI STaT & aftla dEreE

Options :

485584138209. 1
485584138210. 2
485584138211.3
485584138212. 4

[ o)

L]

Question Number : 449 Question Id : 48558434554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

Read the following passage and answer question based on the concept.

Considered from an, urban pomt of view. The rapid growth mn urbanization shows that the town or city has
been acting as a magnet for the rural population. Those who cannot find work (or sufficient work) i the rural
areas go to the city in search of work. This flow of rural-to-urban migration has also been accelerated by the
continuous decline of common property resources like ponds, forests and grazing land. These common
resources enabled poor people to survive m the villages although they owned little or no land. Now, these
resources have been turned into private property. or they are exhausted. (Ponds may run dry no longer provide
enough fish: forests may have been cut down and have vanished...). If people no longer have access to these
resources, but on the other hand have to buy many things in the market that they used to get free (like fuel.
fodder or supplementary food items). Then their hardship increases. This hardship is worsened by the fact that
opportunities for cash income are limited n the villages.

Decline in common property resources like ponds. forests has led to acceleration of:
1. Rural and rural
2. Urban and rural
3. Rural and wrban

4, Urban to urban

Options :
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Read the following passage and answer question based on the concept.

Considered from an, urban point of view. The rapid growth in urbanization shows that the town or eity has
been acting as a magnet for the rural population. Those who cannot find work (or sufficient work) m the rural
areas go to the city in search of work. This flow of rural-to-urban migration has also been accelerated by the
continuous decline of common property resources like ponds, forests and grazing land. These common
resources enabled poor people to survive in the villages although they owned little or no land. Now, these
resources have been turned into private property, or they are exhausted. (Ponds may run dry no longer provide
enough fish: forests may have been cut down and have vanished...). If people no longer have access to these
resources. but on the other hand have to buy many things in the market that they used to get free (like fuel,
todder or supplementary food items). Then their hardship increases. This hardship is worsened by the fact that
opportunities for cash income are limited mn the villages.

The emergence of machme production, based on the use of manumate power resources like steem or electricity
is known as:

1. Globalisation
2. Modernisation
3. Industrilisation

4. Gloecalisation
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